FTHSEE BEAERKF EFHAFHER

4% - BEZE 5 A 3
FRHEBEZFRSER (BFA#)
= FRERE AFHE
ES =S At E=S B E=S i
ECES 12 22 34 2 3 5 2 3 5
BE Z 10 16 26 2 3 5 2 3 5
=t 22 38 60 4 6 10 4 6 10
FRHERRIRSER (KRFHhER)
SR EHRERE AFE
E; £ = £ i £ E
0% 5 6 11 0 1 1 0 1 1
B % 11 9 20 3 1 4 3 1 4
Hi 16 15 31 3 2 5 3 2 5
FRHEBERIRGER (FFE R b
= FRRERE AFHE
ES =S At £ B £ i
IH & 5 5 10 1 0 1 1 0 1
BE Z 18 18 36 4 3 7 4 3 7
Hi 23 23 46 5 3 8 5 3 8
FRHEBER RIS R (R RibER)
SR EHRERE AFE
E; £ = £ i £ E
0% 2 2 4 0 0 0 0 0 0
B % 2 5 0 2 2 0 2 2
Hi 4 7 11 0 2 2 0 2 2

1/4




FTHSEE BEAERKF EFHAFHER

4% - BEZE 5 A 3
FRHEERFERIRSER (—RRE)
ShEE EHRERE FE
E; £ £ £ i
0% 75 117 192 6 4 10 1 2 3
B % 66 90 156 4 2 6 1 0 1
£t 141 207 348 10 6 16 2 2 4
HeRIREER
SRE FHRERE FE
5 E=S E=S =S B
H % 12 30 42 2 7 9 1 5 6
B Z 9 17 26 1 1 2 0 0 0
Hi 21 47 68 3 8 11 1 5 6
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FTHSEE BEAERKF EFHAFHER

4% - BEZE 5 A 3
— e R EUER (RITHA)
SR FIRERE AFE
5 S Eil a2 S %
0% 387 344 731 23 32 55 9 15 24
B % 948 545 1,493 53 19 72 26 19 45
Hi 1,335 889 2,224 76 51 127 35 34 69
REAZFIETAN AEREER (RIHA)
= FRERE AFE
5 S Bl % S S
H & 217 232 449 8 14 22 0 1 1
BE % 420 246 666 18 13 31 1 2 3
Hi 637 478 1,115 26 27 53 1 3 4
REAFHBETAL — R IRAER O AR
= FRERE AFEE
5 S Bl % S S
H % 168 201 369 13 24 37 3 3 6
B Z 348 214 562 22 9 31 4 3 7
&t 516 415 931 35 33 68 7 6 13
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FTHSEE BEAERKF EFHAFHER

4% - BEZE 5 A 3
— iR ER (/)
SRE FRERE FE
5 S Bl % E=S E=S B
R & 66 89 155 0 0 0 0 1 1
BE Z 175 138 313 2 1 3 3 1 4
£t 241 227 468 2 1 3 3 2 5
REAZLET AN AERRSE ()
SRE FRERE FE
5 S Bl % £ £ B
H & 28 24 52 1 0 1 0 0 0
B Z 52 31 83 0 2 2 0 1 1
Hi 80 55 135 1 2 3 0 1 1

4/4

[AZE] I/ 1% 484(37.8%)
BAE 794(62.2%)
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